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Instructions for the Candidate - পরীক্ষাথর্ীেদর জনয্ িনেদর্শনা:

‚ For all questions, the process involved in arriving at the solution is more important than the answer
itself. Valid assumptions / approximations are perfectly acceptable. Please write your method
clearly, explicitly stating all reasoning.
পৰ্িতিট পৰ্েশ্নর জনয্ই উত্তেরর েচেয় সমাধােনর পৰ্িকৰ্য়া েবিশ গুরুতব্পূণর্। যুিক্তপূণর্ অনুমান/অয্াপৰ্িক্সেমশন পুেরাপুিরভােব গৰ্হণেযাগয্।
সমাধােনর িবশদ ও স্পষ্ট বয্াখয্া আমােদর পৰ্তয্ািশত।

‚ Be sure to calculate the final answer in the appropriate units asked in the question.
চূড়ান্ত উত্তর পৰ্শ্ন অনুযায়ী সিঠক একেক গৰ্হণেযাগয্।

‚ Non-programmable scientific calculators are allowed.
নন েপৰ্াগৰ্ােমবল সােয়িন্টিফক কয্ালকুেলটর গৰ্হণেযাগয্।

নাম (বাংলায়): েরিজেস্টৰ্শন নং:
নাম (In English):
েশৰ্িণ (জুন, ২০২৩):
পৰ্িতষ্ঠান:

Useful Constants and Formulas

Mass of the Sun Md « 1.989 ˆ 1030 kg
Mass of the Earth M‘ « 5.972 ˆ 1024 kg
Mass of the Moon MK « 7.347 ˆ 1022 kg
Radius of the Earth R‘ « 6.371 ˆ 106 m
Radius of the Sun Rd « 6.955 ˆ 108 m
Speed of light c « 2.99 ˆ 108 m
Astronomical Unit(AU) a‘ « 1.496 ˆ 1011 m
Solar Luminosity Ld « 3.826 ˆ 1026 W
Sun’s apparent magnitude md = ´26.74

Gravitational Constant G « 6.674 ˆ 10´11 Nm2kg´2

1 parsec 1 pc = 3.986 ˆ 1016 m
Energy units 1 erg = 10´17 J
Stefan’s constant σ = 5.670 ˆ 10´8 Wm2K´4

Pogson’s law m1 ´ m2 = ´2.5 log F1

F2

Spherical law of cosine cos c = cos a cos b+ sin a sin b cosC
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১. MCQ
Answer the following multiple choice questions with a tick [

‘

]. Each question contains 1 mark.

১. You observe a galaxy emitting a H-alpha line
at a wavelength of 785 nm. The rest-frame H-
alpha emission wavelength is 656 nm. What
is the radial velocity of the galaxy?
তুিম এমন একিট গয্ালািক্স পযর্েবক্ষণ করেল যা H-alpha
বণর্ািল েরখা িবিকরণ কের ৭৮৫ নয্ােনািমটার তরঙ্গৈদেঘর্য্।
লয্ােবােরটিরেত H-alpha এর িস্থর তরঙ্গৈদেঘর্য্ ৬৫৬ নয্ােনা-
িমটার। গয্ালািক্সর অরীয় (পযর্েবক্ষেকর িদেক/উলটা িদেক)
েবগ কত?

(a) 0.178c, approaching

(b) 0.243c, approaching

(c) 0.178c, receding

(d) 0.549c, approaching

২. Which of the below coordinate systems are not
used for finding Deep Sky Objects regardless
of location and time on Earth?
েকান খ-েগালকীয় স্থানাংক বয্বস্থা আকােশর িডপ-স্কাই অেļক্ট
(গয্ালািক্স, েনবুলা, ক্লাস্টার) খঁুেজ েবর করেত বয্বহার করা
হয় না?

(a) Equatorial
coordinate
system

(b) Galactic coordinate
system

(c) Alt-azimuth
coordinate
system

(d) None of the
above

৩. A group of astronomers was chilling under
the night sky when one noticed a peculiar
supernova. Its brightness, B declined
exponentially. In other words
একদল েজয্ািতিবর্জ্ঞানী েখালা আকােশর িনেচ মজা করেত কর-
েত একিট সুপারেনাভা েদখেত েপেলন। সুপারেনাভার উজ্জব্ল-
তােক B সূচকীয় ভােব কমেত েদখা েগল বা,

B 9 e´t/τ

where τ is a constant with a value of 30

minutes. এখােন τ একিট ধৰ্ুবক যার মান ৩০ িমিনট।

At its brightest, the supernova has an
apparent magnitude of +4. Assuming the
maximum magnitude that human eyes can see
is +6, how long can they observe the Type 2L
Supernova until it became invisible to them?
সেবর্াচ্চ উজ্জলতায়, এর আপাত ঔজ্জব্লয্ মাতৰ্া +4। ধের েন-
ওয়া যায় মানুেষর েচাখ সেবর্াচ্চ ৬ মাতৰ্ার তারা েদখেত পায়।
সুপারেনাভািট অদৃশয্ হবার আেগ কতক্ষণ েদখা যােব?

(a) 40 mins

(b) 50 mins

(c) 55 mins

(d) 2 hours

৪. Which of the following is not a source for
internal heating mechanisms present within
the planets of the Solar System?
েকান পদ্ধিতেত আমােদর েসৗরজগেতর গৰ্েহর অভয্ন্তের তােপর
সৃিষ্ট হয় না?

(a) Tidal heating

(b) Radioactivity

(c) Thermal ionization

(d) Gravitational
contraction

৫. Famous star Vega is high-temperature A04
type star. Arrange the following spectral
classes from highest to lowest surface
temperature:
িবখয্াত তারা অিভিজৎ একিট উচ্চ তাপমাতৰ্ার A04 টাই-
েপর তারা। তাপমাতৰ্া অনুযায়ী তারার বণর্ািল েশৰ্িণেক মােনর
অধঃকৰ্ম সাজাও।

(a) A,F,G,K,M

(b) F,A,G,M,K

(c) A,F,K,G,M

(d) K,A,F,M,G
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২. অজানা অবস্থােন
An observer at an unknown location on Earth spotted a star located exactly at zenith at 23:00 local
time. The next day, again at 23:00 local time, he noticed that the star’s zenith distance had changed to
z = 0.8˝. Determine the latitude ϕ of the observer. [5 Marks]
একজন পযর্েবক্ষক একিট অজানা অবস্থােন আকাশ েদখেত িগেয় েদখল একটা তারােক িঠক 23.00 বােজ মাথার উপের (যােক সুিবনু্দ বেল)
েদখা যােচ্ছ। পেররিদন একই সমেয় একই অবস্থােন েস তারািটেক েদখল মাথার িঠক উপেরর িবনু্দ েথেক z = 0.8˝ েকােণ সের েগেছ।
েসই অবস্থােনর অক্ষাংশ কত?
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৩. New Planet!
A newborn terrestrial planet with the same composition as our Solar System in its infancy is in orbit
with radius 1 AU about a star with luminosity 1Ld. It has no atmosphere (yet) and may be treated as
a spherical blackbody, and it has the same bulk density as the Earth. Between radioactive heating and
starlight, its surface temperature is precisely at the melting point of mafic minerals, T = 1400 K. What
is its mass, in kgs and in Earth masses? [6 Marks]
একিট নতুন পৃিথবীর মত ঘনেতব্র গৰ্হ যার গঠন আমােদর েসৗরজগেতর অনয্ানয্ বস্তুর সােথ িমেল পৰ্াথিমক ভােব সূেযর্র মত, 1Ld দীিপ্তর
একিট তারােক ১ েজয্ািতিবর্দয্া একক দূের আবতর্ন করেছ। এই গৰ্েহর এই মুহূেতর্ েকােনা বায়ুমণ্ডল েনই িকন্তু তােক কৃষ্ণবস্তুর মত ধরা যায়।
এই গৰ্েহর তােপর পৰ্ধান দুইিট উৎস, অভয্ন্তরীণ েতজিস্কৰ্য়তা এবং সূেযর্র আেলা েথেক এই গৰ্েহর পৃেষ্ঠর তাপমাতৰ্া T = 1400 K যা
আেগ্নয় িশলার গলনােঙ্কর সমান। এই গৰ্েহর ভর েকিজেত এবং পৃিথবীর ভর একেক কত?
The radiation due to radioactivity can be written as

Prad = MΛrad where Λrad = 0.0527 erg/s/g
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Observation
১. Name the galaxy in the following image.

িনেচর িচেতৰ্ েয গয্ালািক্সিট েদখা যােচ্ছ তার নাম কী? [1 Marks]

(a) Triangulum galaxy

(b) Andromeda galaxy

(c) Whirlpool galaxy

(d) Milky way galaxy

২. Name the brightest star in the picture. [1 Marks]
িনেচ তারা সজ্জার মেধয্ সবেচেয় উজ্জব্ল তারািট েদখা যােচ্ছ এর নাম কী?

(a) Rigel

(b) Procyon

(c) Sirius

(d) Aldebaran
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৩. Name the following constellations labeled as A, B, and C. [3 Marks]
িনেচর ছিবেত A, B, C িচিহ্নত অংশ েয তারামণ্ডলীর অংশ তার নাম িলখ।

A
B
C
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